


Exercise – Air emission accounts
Starting from the Energy PSUT provided, set up an air emission account using the following information.
Typical emission factors for combustion of fuels are:
	
	Emissions factor ton CO2/TJ

	Coal 
	96

	Gasoline
	70

	Fuel wood
	110



Assume in addition, that from your IPCC emission inventory you get the information that 139 kilotonnes of CO2 is released due to production processes, which chemically transform raw materials from one form to another. These processes take place within Other industries. 
  







تمرين - حسابات انبعاث الهواء
بدءاً من جدول العرض والاستخدام المادي للطاقة، قم بإعداد حساب انبعاث الهواء باستخدام المعلومات التالية.

عوامل الانبعاثات النموذجية لاحتراق الوقود هي:
	عامل انبعاثات طن CO2 / TJ
	

	96
	فحم

	70
	الغازولين

	110
	الوقود الخشبي 



بالإضافة إلى ذلك أفترض، أن من مخزون الانبعاثات الخاص بـ IPCC، تحصل على المعلومات التي تفيد بأنه تم إطلاق 139 كيلو طن من ثاني أكسيد الكربون بسبب عمليات الإنتاج، التي تحول المواد الخام كيميائيا من شكل إلى آخر. هذه العمليات تتم داخل الصناعات الأخرى.
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